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KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name KVS PRT 22 FEB SH1
Exam Date & Time 22-02-2023 09:00:00

Subject : GE_Q01-Q10_PRT22FEBSH1
Question ID:- 1

MIRACULOUS
Choose the word similar in meaning to the one given above.
(1) Fervent

2)  Extraordinary

22

)
) Reverend
)

(
(
( Odd

s

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

FEROCIOUS

Choose the word opposite in meaning to the one given above :

(1) Mild

(2) Fervent

(3) Tame

(4) True
Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, OptionID :- 7,

. 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3
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Identify the part of speech of the underlined word in the sentence given below :

This dish is not to his liking.

(1) Noun

(2) Verb

(3) Adjective

(4) Adverb
Options:-

.1, OptionID :- 9,
- 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4

He has always liked this food.
Choose the option in which the above sentence has been correctly changed into Passive Voice.
(1) This food has been always liked by him.

(2) This food had been always liked by him.
(3) This food has always been liked by him.
(4) This food has been to his liking.

Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Sunita said, “Please help me, Ram.”

Choose the option in which the above sentence has been correctly changed into Indirect Narration.
(1) Sunita asked Ram for help.

(2) Sunita requested Ram to help her.

(3) Sunita asked Ram to help her.

(4) Sunita told Ram that she should be helped.

Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6
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Choose the option in which the following jumbled words/ phrases have been rearranged to form a
meaningful and grammatically correct sentence.

(A) full employment
(B) seems

(C) years away

(D) still

(E) light

(D) (D) (© (B) (A) (E)
(20 (©) (D) (E) (B) (A)
(3)  (B) (C) (D) (A) (E)
4 (&) D) (B) E) ©)
Options:-

.1, Option ID :- 21,
- 2, Option ID :- 22,
- 3, Option ID :- 23,

- 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Identify the part of the following sentence which contains an error.
Since four years he has been teaching here.

(a) (b) (©) (d)
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Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
- 3, Option ID :- 27,

- 4, Option ID :- 28,
Answer Given:- 2, Option ID : -26

Question ID:- 8

Fill in the blank in the following sentence by choosing the correct option out of the ones that follow
each sentence.

I think he is quite the idea.

(1) taken over
(2) taken out
(3) taken with
(4) taken on

Options:-
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.1, Option ID :- 29,
. 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9

Fill in the blank in the following sentence by choosing the correct option out of the ones that follow
each sentence.

I would have helped you if you me.
(1) asked

(2) ask

(3) had asked

(4) have asked

Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
« 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 4, Option ID : -36

Question ID:- 10

Fill in the blank in the following sentence by choosing the correct option out of the ones that follow
each sentence.

In his looks he has taken his father.
(1) for

(2) wup

(3) after

(4 on

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
- 3, Option ID :- 39,

- 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Subject : GH_Q11-Q20_PRT22FEBSH1

Question ID:- 11
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et fau YT SR ugewt 39 X SUnfid UYR ot gaities I faeRen @ wem St -

T S Y et e & fior o s off fadere sy o T | sfaaEl o wafe o aw wed € 1 9=
Tt o1 FmTo gu fomm wandie SR Serar W o S TRl @ ekl | SRfere 3= wet o, wa- fmt &
T e | FeavE 9 7™ & i o fore 32 fart ot e W oin et gfte shfied T e v
TS @ AR = fean

T foereTE o Sieq @8F of -
(1) eAfer- T

(2) wAE-FEi

(3) A

(4) FHEE-fEm

Options:-

.1, Option ID :- 41,

« 2, Option ID :- 42,

« 3, Option ID :- 43,

« 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

=t fou TeneT SR Ut 39 U S ue o watiues e faeen w = it -

ST S H et g o frfor o off e ot T e ) sfa o wmie e e wEd € | '
HeEl w1 T U for T SR serer U &1 S T8l 8l Hehdl | $HfeTe 314 el 1, ' HiAa- T 8
T 4T § | FoavEr W= 9 o fraion o forg 3 feret ot feie o oiR eroe gfte siEd 7w qe
HATS okl SR & fea |

A FAgEH _ Fwd
(1) dfEr

(2 w°&
(3) HHHA
(4 T2

b

Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

« 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13
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=irer feu TTenyT i UgeRt SH UT SITUTG W9 T Gaiteres Sted fashed s Sae shife -
310 29 el e & Fmitor o1 s o faaerre i T e | safaeEl & gufe o U wed § | 9=
Tl w1 Fwfor gu o wanedi= iR serar e @1 5 e 8 T | sufere S=iA et o, uee- Tt g

T w5 € | deavErd 9= 9 oF i o forg 3-8 fdt ol foiy oht o1 e7ueT gfte shfgd =1 which 99y
HHTS i AR A fea |

fogeHe & T 9Rd 9 ?
(1) foega wg @as

(2) Eds Ug WS

(3) HHISE Tg R
(4) HIEH TS AT

Options:-

.1, Option ID :- 49,

- 2, Option ID :- 50,

. 3, Option ID :- 51,

- 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52

Question ID:- 14

=irer feu TTenyT i UgeRt SH UT SITUTG W9 T Gaiteres Sted fashed s Sae shife -
310 =9 el e & Fmitor o1 s o faaerre ot T Mo | safamEl & i o U wed 8 1 9=
Tl w1 Fmtor gu o wandi= iR serar e @1 5 e 8 T | sufere S=iA et o, wee -t @

T w5 € | e 9= 9 oF i o forg 3-8 fdl ol fomiy o6t ST e7ueT gfte shfgd =1 whteh g9y
HHTS i AR A fea |

faaepre it = aa-fafo & feu -
(1) = T = g

(2) Sl oy &1 g

(3) HHE WS I HAl

(4) ¥ ferdm =l T

Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15
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et U TenyT St Ut 39 TR ST Uy o weliteres Ifea faemeu s wem wita -

0 S Y et e & faior o s off fadere sy o U | sfaaEl o wufe o aw wed € 1 9=
HeAT o1 o gU for Tanei SR Serer WUeg o1 S e @ Hehdl | gHiay 32 el o, ‘Ae- i g
T W& ¥ | qeavErd Wl T o i & faw 32 feedt ot fadi @t o srot gfte a1 ek 9uu
TOTS i AR = T

‘guftz’ w1 faeim & -
(1) =

(2 THd

(3) TeHTHI

(4) fowqa
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

() S|+=W

(2) ¥+

(3) 3IY + B8R

(4) 3Ig+ 3N
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

AT G FH1 STHTT IH -

(1) T4-gm

(2) HH-HEH

(3) SATHAA-IH=TS

(4) =Gl
Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
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. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 2, Option ID : -66

Question ID:- 18

‘ared’ @1 wHEETE wes € -
() we

(2) THER

(3 dfte

(4) S

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

- 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

“Frafa’ =t facim & -
() T

(2) sIErfad

(3) AT

(4) ™
Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
« 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

‘U2 ¥ T 9 Y| SR o YEifeRd S T HEE § -

(y =H
(2)
(3) STUEH
(4) FYSH
Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,
- 4, Option ID :- 80,
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Answer Given:- 2, Option ID : -78

Subject : GA_Q21-Q30_PRT22FEBSH1

Question ID:- 21

Which of the following has NOT been guaranteed as a Fundamental Right by the Indian
Constitution ?

(1) Personal liberty

(2) Free Legal Aid
(3) Constitutional Remedies
(4) Freedom of Profession

I % Hiawm g frefafea 8 @ 6l te go sfuer % w9 8§ TE T8 s T e 2
(1) <few wral

(2) 9o fafus gem@a

(3) wifarH IT=R

(4) SHEHM HI @Al

Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

State Highways in India are maintained by whom ?
(1) National Highways Authority of India

(2) Central Public Works Department
(3) State Public Works Department
(4) Municipal Councils

ad H T TS 11 &1 -1 fmass gy fean s @ 2
(1) R T TErT wife

(2) s e Ao e

(3) sF ik fAmioT favm

(4) R R i
Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
- 3, Option ID :- 87,

« 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87
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Question ID:- 23

Which kind of soil has capacity to hold moisture and is ideal for growing cotton ?

(1) Arid soil
(2) Redsoil

(3) Black soil
(4) Laterite soil

o wohR &1 firedt § Tt ) v 9 e B § ol @ e Y Bt ¥ forg stsfie Bt B2
(1) =k foed

(2) od T

(3) =hrem fHzEt

(4) e THSR e
Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

« 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24

In 1920s, the famous car manufacturer Ford started using the ‘assembly line’ technique to
manufacture cars after witnessing the technique in which of the following places ?

(1)  Fruit market

(2) Windmill plant
(3) Slaughter house
(4) Tea plantation

=9 1920 ¥, T wfag =R fafata wie 3 fF=fafes § @ frg wm w ' sl oea’ qaE # SEHt
TR A H S qehrileh ohl YA HEA & foran 217

(1) et TSI

(2) YSHA-FeHhRl HIF

(3) SIS @

(4) EIREIHIE
Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94
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Question ID:- 25

Which of the following terms was created from a Western view point to refer to the countries to
the East of the Mediterranean ?

(1) Orient
(2) Anglicist
(3) Occident
(4) Briton

qHYA WR % d &1 S 3lel o3l o1 Seoid & o el Feing § frefafad 4 9 fey s & 9o
Teran 2

(1) eifEe

(2) Ufafae

(3) sifwaee

4) foeA
Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
« 3, Option ID :- 99,

« 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97

Question ID:- 26

Which Indian actor was awarded the ‘Indian Film Personality of the Year’ in the 53'd International
Film Festival of India (IFFI)2022 held in Goa ?

(1) Rajnikanth
(2) Prabhas

(3) Chiranjeevi
(4 Mohanlal

Tar § orfea 53 ¥ SiaeE yRdHE fhen ecdd (SR UW.UE.AE) 2022 H fRg vRdE sifyaar &
‘e firen wdHfert 3ift g S’ &1 QR fomn man 22

(1) TsHIHIq
(2) 99
(3) TS
(4) BT
Options:-

.1, Option ID :- 101,
. 2, Option ID :- 102,
« 3, Option ID :- 103,
« 4, Option ID :- 104,
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Answer Given:- 2, Option ID : -102

Question ID:- 27

Why were the National Awards for Empowerment of Persons with Disabilities conferred on 3
December 2022 in India ?

(1) Famous scientist Stephen William Hawking was born on 3td December

(2) Helen Keller, famous author, who was blind and deaf was born on 3rd December
(3) Ministry of Social Justice and Empowerment was established on 3™ December
(4) December 3' is the International Day of Persons with Disabilities (IDPD)

qd § Ui fesaier aifee qOaRR 3 fegwar, 2022 & i fean 7 ?

(1) ufeg asifen ©in faferas g o 574 3 fogwar, @1 g a1

(2) WG o el her, Sl gftee iR sfEr &, w1 st 3 fawwar =1 5o o1
(3) ISR = S SAfbeRriar Haerd i wure 3 feavat &1 g8 of |

(4) ‘oA fesairee feem’ (sl .El) 3 fawwat =1 w1 Sl €1

2

Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28

Which book was awarded the Bal Sahitya Puraskar 2022 in Dogri language ?
(1)  Sikh-Mat

(2) Nani Sunao Kahani

(3) Tohfa

(4) Chanda Mama

e g% 1 S 991§ 9T wifec g, 2022 YeH foRn e ?

(1) To=wE =9

(2) T gl weE

(3) drE®

(4) =eHME
Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112
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Question ID:- 29

Who took over as the President of the Board of Control for Cricket in India (BCCI) in October
2022 ?

(1) Saurav Ganguli

(2) Jay Shah
(3) Roger Binny
(4) N. Srinivasan

(1) ERa et

(2) SFE

(3) L for=t

(4) T FifEET
Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
« 3, Option ID :- 115,

- 4, Option ID :- 116,
Answer Given:- 1, OptionID : -113

Question ID:- 30

Match the Indicator in List 1 with the Colour it brings when added into an acidic solution in
List 2.

List -1 List - 2
(A) Litmus Paper () Dark Pink (Magenta)
(B) Turmeric (I) Coloutrless
(C) China rose petals (IIT) Red
(D) Phenolphthalein (IV) Yellow

Select the correct answer using the codes given below :

(1) (A)-0), (B)-(I), (O~II), (D)-(IV)
(2) (A1, (B)-(1), (CO)-IV), P)-(I)
(3)  (A)- (I]1 (B)-(IV), (O)-(0), (D)-(I0)
(4)  (A)-V), ( )-(1), (C)-(II), (D)-(1II)
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T - 1H fou ¢ Hehee 1 Wit - 2§ Hefees o1 27iia faerad § foam o o9+ aret 0 9 fers i)
Tl -1 T - 2

(A) fereme Tu (D e e (wster)
(B) w@eal () TR

(C) i e =i ufedl () e

(D) WACTIATEATS (IV) dien

=l fQU 17T ShIE 1 FART hd L Wel ST I T4 hifeid |
(D) (A)-(D), (B)-(I), (O~(T), (D)-(IV)
(2) (A1), (B)-(1D), (C)-(IV), (D)-(D)
(3)  (A)-(IID), (B)~(IV), (O)-(D), (D)-(II)
(4) (A1), (B)-(I), (C)-(I), (D)-(II)

Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
« 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Subject : RA _Q31-Q35_PRT22FEBSH1
Question ID:- 31

How many odd numbers are there in the following Number sequence each of which is immediately
preceeded by multiple of 3 and is immediately succeeded by multiple of 4 ?

7,6,7,8,3,7,4,6,7,9,7,6,1,8,7,7,6,5,8
(1) 4
2 5
(3 3
4 2

Frfafes gen wa | U frat foma gemd € f599 3 ues % e 9ed 3 1 TS SfR UsheH oS 4
T [0S B 2

7,6,7,8,37,4,6,7,97,6,1,8,7,7,6,5,8
(1) 4

2 5

3 3

4 2
Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
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. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32

Sunil is standing 30 metres to the right of Mamta. Raj is standing 60 metres to the south of Sunil.
Priya is standing 40 metres to the left of Mamta and Seema is standing 100 metres to the north of
Raj. In which direction Seema is standing with respect to Priya ?

(1) North

(2) West

(3) North - East
(4) North - West

e, dl % SR 3R 30 HeX & g W @E | S, Td o i § 60 HWiet ot R @ ¥ T, wwa
% ol BiR 40 Hew g wet ® qon Hiwn, TS I H 100 Hew w wEl € 1 g, T i ey fegn 9 wd
2?2

(1) W

(2 uR=M
(3) I
(4) TH-UREH
Options:-

.1, Option ID :- 125,
- 2, Option ID :- 126,
. 3, Option ID :- 127,

- 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127

Question ID:- 33

A, B,C, D, E, F, G and H are eight friends sitting around a square table in such a way that four of
them sit at four corners while another four sit in the middle of each of the sides. All are facing the
centre of the square table.

A sits third to the right of D. B sits third to the right of H. There is only one person between B and
C. Cis not neighbour of F and A. Fis at one of the corners. G and B are immediate neighbours of
F.

Who is sitting opposite to F ?

() H
(2 E
3 D
(4 C
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A, B,C, D, E, F, G 3R Hw® A8 a3 U avier 49 & =R 31K 39 UFR 90 & & 378 9 9r fig =r
FH H 93 € Efh o7 TR 3 9ok O & 7e § o0 T 9ot o g 89 % 0 S SR T

A, D% TET SR 99 T W A4S 81 B, H o gl 271 drE T W ae] § | B 31 C % w14 e U =i
R1C, Fau A= o 7] 81 FuF S § 921 1 G 3R B, F % fisreay wSwd ¥

F % QT i Sia1 @ 2

Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

Given below is a question followed by two statements numbered (I) and (II) each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q : Among five students S, T, U, V and W, who scored the highest marks ?
Statements (I) : T scored less than W but more than V.
Statements (II) : V scored more than S and U.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient.

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient.

(3) Both statements (I) and (II) together are necessary to answer the question.

(4) Both statements (I) and (II) together are not sufficient to answer the question.
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= e W fezn e @ formes =g €1 @e (1) 3R e (1) feu e € o & v | g S €t e
21 31q fofg SifS o $F 98 99 999 1 3 <4 % fou vaie 278 |

(M) = BEIS, T, U, VIR W H & gaifes i fea ara e ?

HIA (I): T, W T &Y 3 Ta el & fobg vV iferem 2ia wrd ontan €

YT (1) : V, ST U W e i Wra &¥al §

(1) R (I) 3THel §I 1 I <1 & fole 7 © Siafer shem (11) S7hel v =&l 21
(2) YA (II) AFA I &I I S o foT¢ GaT & Sialfeh hed (I) Tehel 94T &l 2 |
(3) YA (I) 3R HYF (I1) THI et 797 &1 W 31 F o smavas §

(4) e (1) R e (1), 31 foaTs 997 &1 W 39 F fore v 72 2

Options:-

.1, Option ID :- 133,
- 2, Option ID :- 134,
- 3, Option ID :- 135,

- 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

In the diagram given below, circle represents non - educated, square represents non tax-payers
triangle represents athletes and rectangle represents married persons.

How many non - educated, tax - payers are married athletes ?

15
13 | H

g \
N\ 17| 6 /)

1 11
2 17
3) 15
(4 13
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= feu U st | g IR-Tafard =, & I-wEransd o, Bs ueltel @ ad1 ed faenfed safaa w5
yfafifee wwa &
15
13 | 11

, \
NN 176 //

g2,

o TR-TRrferd, s faanfed woredie € 2

(1) 11
2 17
(3) 15
(4) 13

Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
- 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT22FEBSH1

Question ID:- 36

Mehraaz used a magic shortcut key combination that permanently deleted a file without storing it
in Recycle bin. Identify from the following this magic shortcut key combination in MS Windows.

(1) Alt+Delete
(2) Ctrl+Delete
(3) Shift+ Delete
(4) Tab+ Delete

TS 9 MS Windows H T T #fse wrése wi-warsm =1 vl forn o o wee = fuafrea
fom # =R for fam =9 fedfie = foom frefafea # 8 39 A wése Fi-Faem #1189 St :
(1)  Alt+ Delete

(2) Ctrl+Delete

(3) Shift+ Delete

(4) Tab+ Delete

Options:-
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.1, Option ID :- 141,
. 2, Option ID :- 142,
« 3, Option ID :- 143,

« 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

Which feature of an operating system allows more than one program to run Concurrently ?
(1) Multiprocessing

(2) Multitasking

(3) Threading

(4) Multiprogramming

siffen faren it & it fagvar (WiER) Th | sAfes T w Gie-a1e g9ar i st St €2

(1) wegERET

(2) HEArERT

(3) gfen

(4) HEYRIET
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

This key when used with a character key on the keyboard helps type a capital character otherwise
types a lower case character. Which key is this ?

(1) Ctrl
(2)  Shift
(3) Tab
(4) Al

9 9 ‘i (Key) o1 TEN Hi-a1E W fhH FEe #1 & w1y o s € 9 98 U Hfuee FiE F 26y
O H I HE & ST T8 IS T HLF ZEY Al ¢ | TE i ki G B ?

(1) Ctrl
(2) Shift
(3) Tab
(4) Alt

Options:-

.1, Option ID :- 149,
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« 2, Option ID :- 150,
. 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

Which of the following computers are ideal for daily life data and word processing including
creating professional presentations ?

(1) Mainframe computers
(2) Super computers
(3) Micro computers

)

(4) Mega computers

frfafad § 9 #9 § FrgX dikvme s a9 |fed <fe siraq sr1 i 32 vafe & fau suge
g7

(1) HIHH HHR
(2) R FR
(3) TR FER
(4) HT TR
Options:-

.1, Option ID :- 153,
. 2, Option ID :- 154,
. 3, Option ID :- 155,

- 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

Which of the following does not support cloud storage directly ?
(1) Google Apps

(2) Canva

(3) Dropbox

(4) MS-Paint

Frafafed § 4 $F @9 Fase LIS F 9U° 77 B 2

() TETH

(2) =

(3) SHEE

(4 THEE-I
Options:-

.1, Option ID :- 157,
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. 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 4, Option ID : -160

Subject : UL_Q41-Q55_PRT22FEBSH1
Question ID:- 41

‘Growth’ is defined as :

(1) Reversible Qualitative change in body
(2) Irreversible Quantitative change in body
(3) Reversible Quantitative change in body
(4) Irreversible Qualitative change in body

‘gfg’ =t aftemn & S 2
(1) IR ¥ Zeravfi qureEs 9iteds % &9 4§
(2

2) YR H SHRAIA HEACHS e % &9 §
(3) IRR ¥ SHHUII HETHs fiady & €9 |
(4) TRR H AT T[OTcHS e o 'Y |
Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

Heredity and environment influences :
(1) Growth and Development

(2) Social behaviour

(3) Emotions
(4)

4 Home Environment

STafERar AR TR F yenfead @ ®
(1) Ffg i fawm

(2) HHEISE B

(3) Hem

(4) TR H AR

Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,
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. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 43

Which one of the following factor is essential for child’s development ?
(1) Moral dimension

(2) Mental growth
(3) Social -emotional dimension
(4) Physical growth

a1 & fasm & fau Frsifea § 9 @ sifard & 82

(1) Afas smEm
(2) HAMEH fam™
(3) HHISTeR-HiafTeE A
(4) WRIRF T
Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 2, Option ID : =170

Question ID:- 44

is an example of cognitive learning :

(1) Dancing
(2) Feeding
(3) Cyclining
(4) Thinking

Tr=ifera o 9 = daFTeaes ST 1 SSRL 8 2

() T
(2) rsH faam
(3) HEHd FeAMl
(4) TH@

Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176
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Question ID:- 45

Which one of the following is developmental disability ?
(1) Anxiety
Autism

A

(2
(3) Leprosy
(4) Low vision

Fr=ifera § & faerraneas fovrean &2
(1) R

(2) =itfesy

(3 FBA

(4) o1 g
Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

How to inculcate moral values among students ?
(1) Separate moral teaching periods

(2)
(3) The teacher should set self example as role model to influence the children
(4) Through Panchatantra stories

Through co-curricular activities

Torenfefii # Sfoer Heii o1 fama 9 foran < weha1 € 2
(1) Sfcer foren =i s & Fansd F1 s

(2) OIS HETHT HEEA o HeAH 9

(3) ASATYRI Rl =] ol YHIad L & Tl T3 ol 37yl Aok o ®Y H W&d e =My
(4) 9EdA I FHAT AR |

Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47
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‘Struggle with Identity” is feature of :
(1) Adoloscents

(2) Adults
(3) Childrens
(4) Teachers

‘e 9 Hed” Freifera § | ferwent fadmar g2

(1) Tervirreeen

(2) TF=

(3) H©ImeTH

(4) TR
Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
« 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 48

If we don’t channelise the positive energy of this group, it may prove detrimental to society. Which
one of the following is in this group ?

(1) Anganwadi workers

(2) Adoloscents
(3) Social activists
(4) Self help groups

=Ifg B 39 WHE F AT il WhRIcH® Fell %1 Fel fewn § € 7é i €, @ 7 wue % foy e
AgFA T 138 oge H Froifea § 4 Fm 2
(1) HATHETS! HHdl

(2) Temsirrereen & =

(3) WM il

(4) E-HEId e
Options:-

.1, Option ID :- 189,
. 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49
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The appointment of professional experts is need of the hour in case of
(1) present day youth in school.

(2) teachers.
(3) parents.
(4)  school leaders.

Freifera ® & forren fore =maanfae fadmst =t Fregfe o =6t win & 2

(1) FaaHeHI e el & Ja&h
(2) SAEYH
(3)  Hr-fo
(4) TFA
Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
« 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 50

The cognitive behaviour of children could be reflected as ;

(1) lateral thinking,.

(2) convergent thinking.
(3) divergent thinking.
(4) creative thinking,.

T & G S8R oK ol Gohdl © ¢
(1) TIfeEe T & &9 71

(2) HeETwN & w9 7|
(3) dfasa foav & &9 7|

(4) GoHIHS Toiad & 9 H |
Options:-

.1, Option ID :- 197,
. 2, Option ID :- 198,
« 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51
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In present day conditions in classroom, what could be the major challenge for a teacher ?

(1

To achieve academic excellence

)
(2) To make children play on play grounds
(3) To sustain the interest and attention of the students
(4) To keep children away from cell phones

AT T H FHe FHE FI S H] @A U ATF T aL A 1 8 Hehelt € 7
(1) Serforr SeFe=a gra FT

(2) deAehi Sl G o HeM H W & ot ARa HE

(3) Toenfel &1 wfF iR 39 e 1 Far o v |

(4) STkl i HIEEd A H gL @A |

Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
« 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52

What is juvenile delinquency ?
(1) Abnormal behaviour

(2) Display of antisocial behaviour which cannot be controlled
(3) Mood swinging behaviour
(4) Aggressive behaviour

e sTq ##11 § 2

(1) STTEHR STEER

(2) TS forielt =emr %1 wertA fory Freifem =& fopan < wepa @
(3) TGN ¥ UfEdy HeHi =aEr

(4) STBRTTH SATER

Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
« 3, Option ID :- 207,

« 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53
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Home is socialising agent.

(1) Secondary

(2) Main

(3) Primary

(4) Supplementary

T8 WTHTS1RL sifiyda T
(1) fafae

(2) 9=

(3) wifEeR

(4) STRH
Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54

The school leader must encourage :
(1) Students to voice their feeling

(2) Teachers to experiment
(3) Parents to visit the school frequently
(4) NGO s to render suggestions

e o a1 & feifed 6 | fFR sifrarda: semn S =fen ?
(1) Tomnferdi =i sqet v sAfieres w3

(2) STEATIRI ] WA LA & faw

(3) T 1 svefer T § el s A FA H

(4) TR HHR el (T S ) R geE U §H #

Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
« 3, Option ID :- 215,

« 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

Question ID:- 55
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Which one of the following could be the community activity ?

(1) Picnic

(2) Village survey

(3) Study tour |
)

(4) Going to movie

Treiferd H 9 =71 wHEIfFe wrishaTd 8 Hehel 8 2

(1) To=sfaw

(2) ATH-FHaT

(3) =TT A

(4) Tgm1 @A S
Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PRT22FEBSH1
Question ID:- 56

What is the purpose of time table ?

(1) To calculate the students’ in time

(2) To provide leisure time to students

(3) To provide scope for Training

(4) To prevent wastage of time and energy

TOF-GROM T T FASH & 2

(1) w=a R farnferl i aom

(2) Toenfer =i staem %1 99 &
(3) e it SRy W

(4) THF SR F F YA H A

Options:-

.1, Option ID :- 221,
- 2, Option ID :- 222,
- 3, Option ID :- 223,

- 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57
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What is the purpose of “Feed back” in school system ?
(1) To asses the function of school

(2) To introspect and improve

(3) To measure the Learning levels

(4) To get grants from the Governments

Thell SaEl (YOl ) H WIS 1 1 YA § 7
(1) Ehal & HEHW H HediHA

(2)  STCHMIET X FHR
(3) AT T W A
(4) HERR Y FEA 9 B

Options:-

.1, Option ID :- 225,
« 2, Option ID :- 226,
« 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 2, Option ID : -226

Question ID:- 58

Why school inspection is carried out ?

(1) To find faults with Principal

(2) To grant funds

(3) To know the potential of school function
(4)

4) It is an administration requirement

Tpel & Fdter freifera § 9 forg Segva 9 fvan wman @2
(1) r=rE | €W g@d & fog

(2) faferi 23 % fom
(3) Tomre™ & HRIEI i Gl ST & fere
(4) T% UH WerHfTR AfErdd €

Options:-

.1, Option ID :- 229,
- 2, Option ID :- 230,
. 3, Option ID :- 231,

- 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59
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School Annual plan plays the following role :
(1) Staff can be guided.

(2) Syllabus can be properly covered.

(3) Easy to supervise.

(4)  All school activities can be conducted in an orderly fashion.

Terener =i afifes Frsr &1 % -

(1) 399 HHANE] 6 qrieeH fHa1 < Hehal €1

(2) UTSHEH =i faferad qu fohan < Heha 2 |

(3) THALTYT FHIAT ST B

(4) 399 e w1 9ot Tfafafiar gere w9 § e w1 s W €

Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
« 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 4, Option ID : -236

Question ID:- 60

is one of the main characteristic feature of lesson plan.

(1) Well defined Instructional objectives
(2) Number of text books prescribed

(3) Periods to the allotted

(4) Remedial teaching details

feifera ® & s TedST i g fadm § 2

(1) F-uftnfed SFEvTF 3gev

(2) Tafgd qrgagEiehi i de

(3)  3ArEfed sl SHarel el Sl hergsan favfe
(4) SUIRTCHER A9 e

Options:-

.1, Option ID :- 237,

« 2, Option ID :- 238,

« 3, Option ID :- 239,

- 4, Option ID :- 240,
Answer Given:- 1, Option ID : -237

Question ID:- 61
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The ‘School” is a powerful

(1) primary socialising agency.

(2) centre for communication of Information.
(3) powerful secondary socialising Agency.
(4) instrument to learning.

T U ufeemed

(1) e grersietor TeiEt 71
(2)  HEA EYE H FE T

(3) Tadiaeh TSR Tl 1
(4) fRETH T WEE ¥

Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
« 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62

‘Reasoning’ is associated with
(1) Cognitivism

(2) Behaviourism

(3) Realism

(4)

4 Naturalism

‘FehRafs’ Freifed | 9 e s 22
(1) HIFETE

(2) HEERAEIG

(3) FErg

(4) AEfiraEmrR
Options:-

.1, Option ID :- 245,
. 2, Option ID :- 246,
« 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63
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‘Behaviourism’ refers to

(1) Experiment
(2) Environment
(3) Assessment
(4) Adaptation

‘oraeRamR’ % aed freifed § § e R
(1) wam

(2) TEER
(3) HHHEA
(4) SAgFaA
Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

The students will be highly motivated through
(1) Expriment method

(2) Protect method

(3) Modern ICT tools in class room

(4) Lecture -cum- Demo technique

Taemedt f=rifera § & form wmem § ga sifss s € 2
(1) 9= fafy

(2) afErs fafy

(3) ohEN H 3U@e YT YEAT 2R HER UrenfTent % Susi
(4) SATAT HE YSUA - bl

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
- 3, Option ID :- 255,

« 4, Option ID :- 256,
Answer Given:- 1, Option ID : -253

Question ID:- 65
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What is the role of Parents Forum in school education ?

(1) To extend support and give constructive suggestions to school
(2) To organise community programs in school

(3) To organise Tournaments

(4) To organise ‘Shramdan’ in school

el foren # wra-foan 59 &t 7 i 2 2

(1) Temd YeF F 3R fames =1 Ees g &
(2) Tomnera # ArgeEitdes HEEH AATSd HE

(3) A AT HEA

(4) Tormers | ‘' guEH’ 1 STESH HE]

Options:-

.1, Option ID :- 257,

« 2, Option ID :- 258,

« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 1, Option ID : -257

Question ID:- 66

What essential quality of teacher school be assessed during interview ?
(1)  subject knowledge and sense of humour

(2) Good communication and critical thinking

(3) Patience

(4) Interest in teaching

HI&TeehR o SR A9 | freiferd | | fore e o1 qodis fohan s =nfen ?
(1) foua = 3w i T fomie va

(2) 39 HYTW R GRS e
(3) 94
(4) e | w4

Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
« 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 4, Option ID : -264

Question ID:- 67
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The project method is based on :
(1) Exploration
2) Experimentation

4

(2
(3) Learning by doing,.
(4) Collection of data.

gfErs fafy f=ifea § & fom @ emenfig §2

(1) =y
(2) wER
(3) HE-fAoareT & HiEAm 4 S
(4) <9 Hehad
Options:-

.1, Option ID :- 265,
. 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68

What is meant by instructional material :

(1) Itis Teaching and learning material used in classroom
(2) Computer software

(3) Hardware

(4) Testing material.

SIS Tl Herd: &1 & 2
(1) =% %en H g3 foaor sifepm wrht 2
(2) HERET HRTH

(3) BRI
(4) oo JE
Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
- 3, Option ID :- 271,

- 4, Option ID :- 272,
Answer Given:- 1, Option ID : -269

Question ID:- 69
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How the classroom environment should be conducive for learning ?
(1) Well ventilated classroom

(2) Supportive and non- threatening

(3) Classroom should be equipped with A-V-aids

(4) Comfortable furniture

Hegl 1 AR FE YR Siftrm § e g =i ?
(1) e H 39 F@EaT

(2) hEN I HIRTe WEANTHS SR W Ued 21 =fey
(3) &N H FoA-T¥A U I B AR

(4) SARHEE HiH=R

Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

The essential element mentioned in NEP-2020 with regard to Primary Education in is :
(1) Kindergarten scheme

(2) Functional literacy and Numeracy

(3) Foundational Literacy and Numeracy

(4) Pre Primary Education

Tfiyer foren o Hay | Ty e Hifa 2020 7 feafaa @ 0@ © -

(1) Terewmed Asm
(2) UEMEICHeR HIEAT A HEAEH
(3) SR Hiaa oiR HerEE
(4) di-wreEE e

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
« 3, Option ID :- 279,

- 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Subject : CCLE_Q71-Q80_PRT22FEBSH1

Question ID:- 71
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The following disability is an example of non functioning of muscle coordination due to damage in
Brain.

(1) Autism

(2) Dwarfism

(3) Locomotor disability
(4) Cerebral Palsy

Fr=ifera & | =i 4t fesaian afcss faer & SR S9-TegasH & F1 T80 FH &1 See § ?

(1) effes

(2) @A

(3) A e

(4) YufET=F =G
Options:-

.1, Option ID :- 281,
- 2, Option ID :- 282,
- 3, Option ID :- 283,

- 4, Option ID :- 284,
Answer Given:- 4, Option ID : -284

Question ID:- 72

Why is it often the children with mental illness refuse to seek professional help in school ?

(1) Hesitation
(2) Stigma

(3) Fear

(4) Ignorance

TATEREE § T STeish ST el § AadI e Heg o o 1 O o d § 2
(1) fe=r=

(2) wHAH

(3) W=

(4) SR
Options:-

.1, Option ID :- 285,
- 2, Option ID :- 286,
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. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73
How can you make community as learning centre ?

(1) By organising community survey programmes by school children

(2) Visit of parents to schools
(3) Visit of school children to park
(4) Through seminars or workshops

&9 g9 1 fohw wen sfurm 3w | uftafda ot wed § 7
(1) Thell s=3i GRI HEIfeh G eor sl s ST H
(2) wra-Tud 1 whd H W

(3) Tl Sl 1 UTH TSR

(4)  HFAR A1 FHTEEnS H AU

Options:-

.1, Option ID :- 289,
. 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 1, Option ID : -289

Question ID:- 74

A local visit to Hospital by school children can be the best example of
(1) Home-school relation
(2) Social service

(3) Project work
(4)

School-community relation

Tedl o= o T ST 8§ S et o 9 freen see €2
(1) T-faeea ey

(2) |HS Har

(3) Ui %

(4) TEA-FHIA T
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Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
- 3, Option ID :- 295,

- 4, Option ID :- 296,
Answer Given:- 4, Option ID : -296

Question ID:- 75

Most of the children suffering from anxiety disorders are reluctant

(1) to meet friends.

(2) to read and write.

(3) to seek professional help.
(4) to focus on examinations.

gft=m-fowr | difeq sifueta amee feifea § 9§ @0 w0 ¥ feaferam ®72
(1) =i ¥ e d

(2) e foed |

(3) SAEHIFeh FEEdl U i H

(4) O W A Hiwd = H

Options:-

.1, Option ID :- 297,
. 2, Option ID :- 298,
« 3, Option ID :- 299,

- 4, Option ID :- 300,
Answer Given:- 1, Option ID : -297

Question ID:- 76

What is the contribution of Sigmund Freud in Psychology ?

(1) Transactional theory
(2) psycho analysis

(3) Stimulus response
(4) Connectivism
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HAIfasH H famve wE #1 #1 9reH @ ?
(1) Hexasr fagid

(2) weAifagerso

(3) SeEr-sTfe

(4) HEHHER

Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
- 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

The children involved in community service programmes invariably develop ?

(1) Sense of Belongingness
(2) Satisfaction

(3) Pride feeling

(4) Responsibility

HrEIte a1 | Her A 4 R Feifrd § 9 @ fomfa g g ?

(1) ST9=cd ol W&l

(2)

(3) e Y W
(4) SEREITE
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
- 3, Option ID :- 307,

- 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308

Question ID:- 78




Join Telegram Group "HaryanaJobs.in"

What could be the warning sign of mental illness among staff in schools ?

(1) Aggression

(2) Isolation

(3) Mood swinging
(4) Argumentative

el H R H A S0 6 AT 9 § 2

(1) HAThHBEHE

(2) Taefrd @
(3) AN H SR aEeE
(4) ok fra g

Options:-

.1, Option ID :- 309,
- 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79

What do you mean by "Megacephaly’ with reference to mental health ?

1 Small Sized Brain

Large Sized Brain

)
)
3) Small Size Head
4)

(
(2
(
( Large Size Head

T e & ged § ‘Trmathedt’ § @ sifuda 82
(1) oY AR 1 &=

(2) FBE HAHR T AfET=h

(3) Y RN & fE

(4) FEg R A

Options:-

.1, Option ID :- 313,
. 2, Option ID :- 314,
« 3, Option ID :- 315,
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. 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80

Emotional support will go a long way to understand of children in school.
(1) Mental health issues

(2) Learning issues

(3) Personal problems

(4) Social problems

HATCHS Fg4rT Thel | aerehi & fohe =S &1 99e | agd e e ?
(1) WHATEE @ Hasl gaen

(2) @A =t wHEn

(3) EfeRTR e

(4) HHISE FHET

Options:-

.1, Option ID :- 317,
- 2, Option ID :- 318,
. 3, Option ID :- 319,

- 4, Option ID :- 320,
Answer Given:- 1, Option ID : -317

Subject : SOL_Q81-Q90_PRT22FEBSH1
Question ID:- 81

The main purpose of assessment in schools is :

(1) To gauge levels of learning and remediation
2)
(3) To assess knowledge level
(4) To know the attitude

To measure understanding level of the subject

el § SR 1 T WA #1 §2
(1) eaferm T &1 S w3 3R STER

(2) Toword sl HHH % WX H1 =G
(3) S o TR H HeAHA
(4) g =1 S

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
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. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82

Which one of the following leadership style is generally accepted in schools ?
(1) Democratic leaders

(2) Authoritative leadership

(3) Transformational leadership

(4

Servant leadership

Thell § GWTId: Wi Aged el fifed B § F 2

(1) rehdiER g

(2) IR g

(3) UREdTHRI e

(4) HifeTh—rhT o He Y HU g
Options:-

.1, Option ID :- 325,

- 2, Option ID :- 326,

- 3, Option ID :- 327,

- 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 83

What is the role of time - table in school ?
(1) To complete syllabus in time

(

2)
(3) To execute all intended programmes in orderly manner
)

(

To conduct examination on tme

[y

To carry out co-scholastic activities

Thol H YA i 4 i €2

(1)  THT 9 YISThT T HE

(2) T W ged e

(3) =t Aifaa (aifed) wriswHl 1 ared g | HrEitad HE
(4) HE-HHIT FHEFAM 1 R

Options:-

.1, Option ID :- 329,
. 2, Option ID :- 330,
. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331
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Question ID:- 84

Which one of the following quality of Principal in school makes efficient leader ?
(I) Systematic plan

(2) Patience
(3) Sympathy
(4) Future vision

e B gy # freifed 8 9§ T o & foamm @9 % weaEy 98 e a1 8 e | 2
(1) =Hafed FrsH

2
(3) Wl
(4) o gfe
Options:-

1, Option ID :- 333,
2, Option ID :- 334,
3, Option ID :- 335,
4, Option ID :- 336,

Answer Given:- 1, Option ID : -333

Q

(
(

uestion ID:- 85

The directive leader in school always commands :
(1) ‘Do what I say’.

(2) ‘Letus do quickly’.

3) ‘Iknow you can do it’.
4) ‘Do Immediately’.

e § frewreress o freifed § 9 @ sew Sm R ?
(1) ‘wSmHFEMLl

(2) ‘&9 W FH I Aear § g’
(3)

(4) ‘=9 qeRE H

‘Y a1 § Y T8 H T © I

Options:-

.1,

Option ID :- 337,

. 2, Option ID :- 338,

. 3, Option ID :- 339,

.4,

Option ID :- 340,

Answer Given:- 1, Option ID : -337

Question ID:- 86
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What do you understand by Institutional plan in schools ?

(1) Plan to provide funds to school

(2) Itis perspective plan for all round development of school

(3) Plan to recruit teachers in time
)

(4) Plan for sports activities

foeneri & Heenfer drs | ST # aeed § 2

(1) Tper =1 FfeEr yem &3 %t Fen

(2) 7% fawmera & =g famm % fau o w8 weuff e €
(3) A W et wi Fafe o Heeh A

(4) Wershe i Tfafaredl | Hated Are |

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
« 3, Option ID :- 343,

« 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 87

What is the main purpose of morning assembly in school ?
(1) Prayer

(2) To improve concentration

(3) To promote self-discipline
(4)

To disseminate school information

(1) wef

(2) THWE H GUR

(3)  SARH-STTITHA &l FEET ol

(4) Tha § HEfUd g1 1 79N
Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
« 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 4, Option ID : -348

Question ID:- 88




Join Telegram Group "HaryanaJobs.in"

What is the objective of school developmental plan ?

(1) To create healthy organisational climate in school
(2) To cater to the needs of students

(3) To make provision for adequate financial resources
(4) To develop school infrastructure

foremer forsm s w1 @1 3899 & 2

(1) TFe H e GISAeH® TR daR HA]

(2) To=nferi =t sawaswas ot gfd

(3) TATE fa<iia HEEEl F1 YEEE HE

(4) Thol ol FEHEAT TasRiad &
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
« 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 1, Option ID : -349

Question ID:- 89

What is the role of Parents Teachers Association (PTA) in schools ?

(D)
(2)
(3)
(4)

Mobilisation of funds
Participatory approach
Social service

Fault finding with school

el ¥ sty e |9 (fEin) @ @0 % § 2

faferat s
HEIET SURTH
TS Hal

= &l fegrae

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90
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What is the advantage of pairing neighbourhood schools ?
(1) To organise sports events

(2) To conduct Teacher Training Programmes

(3) To conduct common activities

(4) Sharing of reesources and exchange of knowledge
e feerg fammerdl % Harae &1 = ey § 2

(1) TAHe HREHA H1 AASH

(2) rEAeE (foaer) wfoEwn SEwHT s HEe
(3) WM el SIS

(4) HEHA I WEER HX FE-fAHE

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Subject : PE_Q91-Q100_PRT22FEBSH1
Question ID:- 91

The main purpose of Education is
(1) Self-Transformation

(2) Awareness of environment
(3) To earn livelyhood

(4) To gain knowledge

Toren =1 e wersE ©

(1) B

(2) TR F EHEAT

(3) snfsifesht sifsia s

(4) W HEAT
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
« 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92
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What is new curriculum design as per NEP - 2020 ?
(1) 5+3+4+4

(2) 5+3+3+4
(3) 10+2+3
(4) 6+3+2+4

sty T ifd, 2020 % SFTER TE gE=AT 1 0 AfTH B2

(1) 5+3+4+4
(2) 5+3+3+4
(3) 10+2+3
(4) 6+3+2+4
Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
« 3, Option ID :- 367,

- 4, Option ID :- 368,
Answer Given:- 2, Option ID : -366

Question ID:- 93

NEP 2020 focussed on following main issue with reference to Primary Education :
(1) To establish Primary Schools in all rural areas

(2) To achieve Free elementary education by 2025

(3) To achieve Functional literacy and Numeracy by 2030

(4)

4) To achieve Foundational literacy and Numeracy by 2025

T fven =fifa, 2020 # wefaes foen F dedf § gem: g 9@ w9 fem mn R 2
1) Heft areTor & | wafhes fammerdi s s

2) a4 2025 @k -y qifier faen w1 @& w5

3) @ 2030 T YSRTATCTR TIERAT ST HEAFH % @ %1 Y HE |

(4) = 2025 T A FiERA SR HEARE F A 9w H |

—

Options:-

.1, Option ID :- 369,
- 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question ID:- 94
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NCEF - 2005 mainly focussed on :
(1)  Activity Centered learning
(2) Connecting knowledge to life
(3) A.V. aids based teaching
(4)

4 I CT usage

T U= 9wl 2005 H gEra: e we W ge fom wn § 2
(1) hEwAY Hfgd

(2) FH I SfEd | S

3) gH-gvd SUHLU M forerm

(4) AT IR AR GRifeER  seEn

_—

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
« 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 95

According to RTE Act 2009, No detention system is applicable :

(1) Upto class VI
(2) Upto class IX
(3) Upto class VIII
(4) Upto class V

Tore =1 aaferanr eafarfem, 2000 % AR ‘i wifaie TE = waeen feifea § 4 s ame 8 |
272

(1) =i % dh

(2) e e A

(3) A3El el qH

(4) UT=El HaN aF
Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 3, Option ID : -379

Question ID:- 96




Join Telegram Group "HaryanaJobs.in"

What would be the minimum instructional hours per week prescribed for teachers as per RTE Act
2009 ?

(1) 45
(2) 35
(3) 33
(4) 40

o =1 stfeeRr sifafam, 2009 % STER SeageHl o fou i gwe Fae T = =1 fago w5
fauifia foran wn €2

(1) 45
(2 35
(3) 33
(4) 40

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
« 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97

Who coined the term first time ‘child centered education” ?
(1) Spensor

(2) Aristotle

(3) Dewey

(4) John Adams

‘g1 Figa foen’ ueey wdvey e giamfeg femar on ?

(1) ==

(2) SRE

(3) =&

(4) = G
Options:-

.1, Option ID :- 385,
. 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98
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Who was the chairman of Calcutta University Commission ?

(1) A.O. Hume

(2) S. M. Sadler

(3) Zia-ul-Haq

(4) Radhakrishnan

et Jafdel FHYE & A" HH 472
() Tl &g

(2) TEw deer

(3) Tom-3e-g%

(4) VHEPYH
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
- 3, Option ID :- 391,

- 4, Option ID :- 392,
Answer Given:- 2, Option ID : -390

Question ID:- 99

What is the main principle of curriculum ?

(1) Principle of joy

(2) Principle of child-oriented
(3)  Principle of flexibility

(4) Principle of Manipulation
= 1 A fagia w8 2

(1) erHE = fagia

(2) el i

(3) ey = g

(4) woAsH #1 fagi

Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
- 3, Option ID :- 395,

- 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100
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Prohibition of unrecognised schools is included in which section of RTE Act, 2009 ?

(1) Section 21
(2) Section 19
(3) Section 4

(4) Section 11

T ar=rar g faenerai = gfausr foen = sifusr sfafaem, 2009 = g ur & afmfem 22

(1) & 21
(2) oW 19
(3) 44
(4) =111

Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
- 3, Option ID :- 399,

- 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397

Subject : HINDI_Q101-Q120_PRT22FEBSH1

Question ID:- 101

Frefafaa § ‘o' aul &1 S=ERo e ©

(1) T
(2) A
(3) A
(4) e
Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
« 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 2, Option ID : -402

Question ID:- 102

Frefafad § & SH-91 U sfoger=s e v T8 § 2

(1) @
(2) el
(3) =
(4 &
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Options:-

.1, Option ID :- 405,
. 2, Option ID :- 406,
. 3, Option ID :- 407,

« 4, Option ID :- 408,
Answer Given:- 4, Option ID : -408

Question ID:- 103
Frafafes § & ‘d' oir  fadmm’ =i gfie | - vee-—Tm o157 872
(1) =Ar-|4r]

(2) FH-Twg
(3) SeHTE-ScETRT
(4) SYAL-EYaLcA
Options:-

.1, Option ID :- 409,
- 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

Frefafed § gga= it gfie § w931 gm0 98 = 2

(1) FHA-THAT

(2) wRTE-eRIfeAl

(3) TG-S

(4) Tefi-uferr
Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
« 3, Option ID :- 415,

« 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 105
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‘gTet' % TatTETE e €
(A) =

(B) Hfam

(C) &%

(D) BEH

(E) e
Frefafad § 9 9 sw 2 -
(1) (A):ﬁﬁ(ﬂ)

(2) (B) 3R (C)

(3) (D) (E)

(4 (A) (B), ¥R ()
Options:-

.1, Option ID :- 417,
- 2, Option ID :- 418,
- 3, Option ID :- 419,

- 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417

Question ID:- 106
Frfafas 5 sram facimef wss 7m 2 -
(1) rEcI-ghEH
(2) HAAHE-HSEA
(3) SHR-FH
(4) Se—gan
Options:-
.1, Option ID :- 421,
« 2, Option ID :- 422,

- 3, Option ID :- 423,

« 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422

Question ID:- 107

Frfafed d, Sifdr w2
(1) T

(2) e

(3 =

(49 <%
Options:-

.1, Option ID :- 425,
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. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108

Trefafea § 4, forg aem o emds fHa = 82

(1) TTEH 38
(2) =S @ g

(3) V&S Y FIl 2
(4) BT @)
Options:-

.1, Option ID :- 429,
. 2, Option ID :- 430,
- 3, Option ID :- 431,

- 4, Option ID :- 432,
Answer Given:- 3, Option ID : -431

Question ID:- 109

Frefafaa 5w @R wF fag it ofe § FF-91 779 o5 272

(1) =di-A

(2) FH-F fo

(3) SHU-H (5M)

(4) HATRE-H
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
« 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

“F ofreet e T Ugd g, ST H Y@iihd ¥eS §

(1) g fasmm

(2) HerErEs favam

(3) [UTETE fasmem

(4) e famo
Options:-

.1, Option ID :- 437,
. 2, Option ID :- 438,
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. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111

“gaqd =gd =4 gfew 9

Hfew 4 9= wgd e H

& TE gfem 1

it e - 71

I ey e 2" < e ute | faa g ?
(1) sIfis se@m &H

(2) TS, WS
(3) e Tl
(4) IAgA
Options:-

.1, Option ID :- 441,
. 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112

“9Te] Wl Fesial’ WIS o SR W FaiEy R Wiel 3 ST o U W o ?

(1) fafe

(2) freredt

(3) 9T =
(4) ST =
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 2, Option ID : -446

Question ID:- 113

‘g F = 99 U8 F YR R SaEl fF 59 F e 9 | =2 2w ?
(1) < eEH

2 =

(3) S-S SRHI
(4)
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Options:-

.1, Option ID :- 449,
. 2, Option ID :- 450,
. 3, Option ID :- 451,

- 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

‘Tt fopare’ U8 F YR W SR fF A T 9% 1 Hew S 3791 98 % U 99 o 98] 9+ o 5 ?
(1) T F 9HHA

(2) =gd WRl ferame

(3) =@d WX HUY

(4) urerq fafeeat
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115

Hge, Tl iR dgeT ' faafde 2 & fod a2 9 Heifud =i & ?

(1) =edEs

(2) foaet iR et

(3) T H Heg

(4) =S |
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
- 3, Option ID :- 459,

- 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116

Frfafad armr § sEma gm € -

(1) o= ame= ° <1 ufew &-gufean

)  HWE H UF SR YHINE §F arel-aradies
3) Tomr &g o T gi-fadm

(4) TRT YT BT

1
)

—_

Options:-
.1, Option ID :- 461,
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. 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117

S8 TErTSt ST A YA R el @ 1 SH S A o AU AR A S 8 | WS il Wh-HEE Fi
ST % | S ] TR ST S S ¥ 13 i e €17

yga T faafha’ & few ae | fam e g2

(1) S Hare 39 SE=

(2) U9 SE g g

(3) Tofaa =i g

(4) TH WY dH gE
Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

- 4, Option ID :- 468,
Answer Given:- 2, Option ID : -466

Question ID:- 118

ot fomn i s for e % =f@ § 2

(1) === = 3R

(2) g9, 99 T

(3) TEER HHI

(4) < feume
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,

« 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

‘T = T =R

(1) == &6 T

(2) TG H R

(3) foesm | waifua efrmepen
(4) =T olreheRe

Options:-
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.1, Option ID :- 473,
. 2, Option ID :- 474,
. 3, Option ID :- 475,

« 4, Option ID :- 476,
Answer Given:- 3, Option ID : -475

Question ID:- 120

‘ot &1 T’ U1 | 1 Tl e § 2

(1) ¥ SR FEHE F HEvERE F weiEA e ¢
(2) HITETEHI & SfEA & T H gd e ¢ |

(3) T UEEM T e aTel 94 i ALddl 3SR 2 2 |
(4) Toedl i § e S 4 uRe g

Options:-

.1, Option ID :- 477,
- 2, Option ID :- 478,
- 3, Option ID :- 479,

- 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Subject : ENGLISH_Q121-Q140_PRT22FEBSH1
Question ID:- 121

Read the passage given below and answer the question that follow :

When he was eighteen, Velan left home. His father slapped his face one day for coming
late with the midday meal, and he did that in the presence of others in the field. Velan put
down the basket, glared at his father and left the place. He just walked out of the village, and
walked on and on till he came to the town. He starved for a couple of days, begged wherever
he could and arrived in Malgudi, where after much knocking about, an old man took him on
to assist him in laying out a garden. The garden existed only in the mind of the gardener.
What they could see now was acres upon acres of weed-covered land. Velan's job was to
destroy all the vegetation he could see. Day after day he sat in the sun and tore up by hand
the unwanted plants. All the jungle gradually disappeared and the land stood as bare as a
football field.

Velan left home as

(1) he did not want to work in the fields.

(2) he felt humiliated in the presence of others.
(3) he was not good at studies.
(4) he had got a job at Malgudi.

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
« 3, Option ID :- 483,

- 4, Option ID :- 484,
Answer Given:- 2, Option ID : -482

Question ID:- 122
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Read the passage given below and answer the question that follow :

When he was eighteen, Velan left home. His father slapped his face one day for coming
late with the midday meal, and he did that in the presence of others in the field. Velan put
down the basket, glared at his father and left the place. He just walked out of the village, and
walked on and on till he came to the town. He starved for a couple of days, begged wherever
he could and arrived in Malgudi, where after much knocking about, an old man took him on
to assist him in laying out a garden. The garden existed only in the mind of the gardener.
What they could see now was acres upon acres of weed-covered land. Velan's job was to
destroy all the vegetation he could see. Day after day he sat in the sun and tore up by hand
the unwanted plants. All the jungle gradually disappeared and the land stood as bare as a
football field.

Before Velan came to Malgudi :

(1) he did not get anything to eat.
(2) he even had to beg for food.
(3) both (1) and (2)
(4)

4)  he passed through a dense forest.

Options:-

.1, Option ID :- 485,
. 2, Option ID :- 486,
. 3, Option ID :- 487,

- 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123

Read the passage given below and answer the question that follow :

When he was eighteen, Velan left home. His father slapped his face one day for coming
late with the midday meal, and he did that in the presence of others in the field. Velan put
down the basket, glared at his father and left the place. He just walked out of the village, and
walked on and on till he came to the town. He starved for a couple of days, begged wherever
he could and arrived in Malgudi, where after much knocking about, an old man took him on
to assist him in laying out a garden. The garden existed only in the mind of the gardener.
What they could see now was acres upon acres of weed-covered land. Velan's job was to
destroy all the vegetation he could see. Day after day he sat in the sun and tore up by hand
the unwanted plants. All the jungle gradually disappeared and the land stood as bare as a
football field.

The old man in Malgudi :
(1) possessed a small tract of land.

2) used to plant crops on his land.

5o

(
(
(

)
) was passionate about gardening.
)

=

lived in a big house.

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
« 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491
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Question ID:- 124

Read the passage given below and answer the question that follow :

When he was eighteen, Velan left home. His father slapped his face one day for coming
late with the midday meal, and he did that in the presence of others in the field. Velan put
down the basket, glared at his father and left the place. He just walked out of the village, and
walked on and on till he came to the town. He starved for a couple of days, begged wherever
he could and arrived in Malgudi, where after much knocking about, an old man took him on
to assist him in laying out a garden. The garden existed only in the mind of the gardener.
What they could see now was acres upon acres of weed-covered land. Velan's job was to
destroy all the vegetation he could see. Day after day he sat in the sun and tore up by hand
the unwanted plants. All the jungle gradually disappeared and the land stood as bare as a
football field.

Which of the following statements is NOT TRUE ?
(I) Velan was employed by the old man.

2 His job was to clear the land.

(58]

(
(
(

)
) He learnt to use farm implements.
)

=

Soon the land was fit for gardening.

Options:-

.1, Option ID :- 493,
. 2, Option ID :- 494,
. 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125

Read the passage given below and answer the question that follow :

When he was eighteen, Velan left home. His father slapped his face one day for coming
late with the midday meal, and he did that in the presence of others in the field. Velan put
down the basket, glared at his father and left the place. He just walked out of the village, and
walked on and on till he came to the town. He starved for a couple of days, begged wherever
he could and arrived in Malgudi, where after much knocking about, an old man took him on
to assist him in laying out a garden. The garden existed only in the mind of the gardener.
What they could see now was acres upon acres of weed-covered land. Velan's job was to
destroy all the vegetation he could see. Day after day he sat in the sun and tore up by hand
the unwanted plants. All the jungle gradually disappeared and the land stood as bare as a
football field.

‘..... after much knocking about ......"
The underlined phrase means the same as :
(1) meeting different people

2 going here and there

LS ]

(
(
(

)
) trying several jobs
)

Sy

hitting some people

Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,
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« 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126

Choose the word nearest in meaning to the given one.

WISDOM

(I) Learning

(2) Sagacity

(3) Intelligence

(4) Density
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
. 3, Option ID :- 503,

- 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503

Question ID:- 127

Choose the word nearest in meaning to the given one.

Literacy

(1) Education

(2) Respect

(3) Industry

(4) Mercy
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
« 3, Option ID :- 507,

. 4, Option ID :- 508,
Answer Given:- 1, Option ID : -505

Question ID:- 128

Choose the word opposite in meaning to the given one.

Integrate

(1) Blend

(2) Disengage

(3) Impede

(4) Incense
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
- 3, Option ID :- 511,

- 4, Option ID :- 512,
Answer Given:- 2, Option ID : -510
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Question ID:- 129

Choose the word opposite in meaning to the given one.
Obvious

Ambiguous

Reluctant

Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
« 3, Option ID :- 515,

« 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514

Question ID:- 130

Identify the part of speech of the underlined word in the following sentence.
The other room has two beds in it.

(I) Noun

(2) Pronoun

(3) Adjective

(4) Adverb
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Identify the part of speech of the underlined word in the following sentence.
The balloon was grounded by strong winds.

(I) Noun

(2) Verb

(3) Pronoun

(4) Adjective
Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
« 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132




B) thereisa

D

.1, Option ID :- 525,

lot of support

e g pme

> >

(1) (A)(B)(C
(2 (B) (D) (C
(3) () (D) (B
4 (D)©) B
Options:-

. 2, Option ID :- 526,
« 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 2, Option ID : -526

Join Telegram Group "HaryanaJobs.in"

Choose the option in which the following word / phrase have been rearranged to form
correct sentence.

(A) the ground

(
(C) for the policy on
(D)

Question ID:- 133

.1, Option ID :- 529,
- 2, Option ID :- 530,
- 3, Option ID :- 531,
- 4, Option ID :- 532,

Choose the option in which the following word / phrase have been rearranged to form
correct sentence.

(A) never heard the
(B) for the

(C) talented singer
(D) first week, he
1) (B) (D) (4) (©)
(2 (4)© D) @)
) (©) (D) (B) (A)
“) (D) (B) (C) (A)
Options:-

Answer Given:- 1, Option ID : -529

Question ID:- 134

2

G2

(
(
(

T

Options:-

Choose the option in which the VOICE in the given sentence has been changed correctly.
The editor welcomes correspondence from readers.

(1) Readers are welcomed by the editor on correspondence.

) Correspondence from readers is welcomed by the editor.

) Readers with correspondence are welcomed by the editor.
)

Readers’ correspondence is welcome by the editor.
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.1, Option ID :- 533,
. 2, Option ID :- 534,
. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135

Choose the option in which the VOICE in the given sentence has been changed correctly.
My first novel was rejected by two publishers.

(1) Two publishers rejected my first novel.

(2) Two publishers had rejected my first novel.
(3) My first novel rejected two publishers.
(4)

4) My first novel got rejected two published.

Options:-

.1, Option ID :- 537,
- 2, Option ID :- 538,
- 3, Option ID :- 539,

- 4, Option ID :- 540,
Answer Given:- 2, Option ID : -538

Question ID:- 136

Choose the correct preposition to fill in the blank in the following sentence :

She looked his face and felt sorry him.
(1) on;at

(2) at;on

(3) on; for

(4) at; for

Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

Choose the correct preposition to fill in the blank in the following sentence :

She should have been promoted monitor the class.
(1) as;of

(2) for ; of

(3) as;in

(4) for;in

Options:-

.1, Option ID :- 545,
. 2, Option ID :- 546,
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. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545

Question ID:- 138

Choose the option in which the NARRATION in the given sentence has been correctly
changed.

I asked my brother, “What do you want me to do now ?”

(1) Ienquired my brother what did he want me to do now.

(2) Ienquired of my brother what he wanted me to do now.
(3) Iasked my brother what he wanted me to do now.
(4)

4 I asked my brother what he wanted me to do then.

Options:-

.1, Option ID :- 549,
- 2, Option ID :- 550,
. 3, Option ID :- 551,

« 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

Question ID:- 139

Identify the tense in the following sentence.
Tomorrow, I am not going to school.

(I) Simple Present
(2) Present Perfect
3

) Present Continuous
(4) Future Continuous

Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
« 3, Option ID :- 555,

- 4, Option ID :- 556,
Answer Given:- 4, Option ID : -556

Question ID:- 140

Identify the part which has an error :
Little tact would have averted the accident.

(@) (b) (©) (d)
1) (a
2 (®
3) (9
(4) (d)
Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
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. 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Subject : MATHS_Q141-Q160_PRT22FEBSH1

Question ID:- 141

A bottle of juice contains 880 mL juice. The quantity of juice in 9 such bottles will be
(1) 7.920 L

(2) 7L810mL

(3) 7.180 L

(4) 7.290 L

TS 54 &1 aiae () § 880 mL STH o7l B 1 U 9 578 Y Saet (S H S A an

(1) 7920 L

(2) 7L810mL
(3) 7.180 L

(4 7.290 L
Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
« 3, Option ID :- 563,

- 4, Option ID :- 564,
Answer Given:- 1, Option ID : -561

Question ID:- 142

Weight of three friends Lily, Champa and Jasmine are 28.928 kg, 45.437 kg and 37.212 kg
respectively.

Based on above information, find which of the following statements is not correct ?

(1) Sum of weights of three friends is 111.577 kg

(2) Difference of weight of Champa and Lily is 16.509 kg

(3) Average weight of Lily and Jasmine is 33.70 kg

(4) Weight of Jasmine is 8.284 kg more than that of Lily.

1 \ftgEl foett, =w oit SafEa &1 9 wH9: 28.928 kg, 45.437 kg 3 37.212 kg B
TH SERRI o R T T shifen fof Freafereid § @ 9 w %o 98 76 72

(1) i afEsl = F8 9 111577 kg ®

(2) =7 3iR fefefl & 9 Sf 16509 kg ©

(3) foeft sir Swmfe &1 sfad wR 33.70 kg @

(4) SEfE 1 9R, ool % 98 9 8.284 kg b §

Options:-
.1, Option ID :- 565,
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« 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143

A man has an annual income of Rs. 12,400,40. During the year he spent Rs 98,020/- on rent,
Rs. 1,34,259/- on education of children and Rs. 7,34,294/- on house hold expenditure. At the end
of the year money left with him in (Rupees) is :

(1) 2,74,376
(2) 2,73,467
(3) 2,74467
(4 2,73,367

U EHT i anfties 2THEAT 12,400,40 ®UU B | 99 st 3194 § 3949 98,020 & foplW 9%, 1,34,259 & =41
I TgE T 2R W F 3 Tl W 7,34,294 F @ fHU |99 F o0 H 3P I 99 Ui (T H) §
(1) 2,74,376

(2) 2,73, 467

(3) 2,74467

(4) 2,73,367
Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

- 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570

Question ID:- 144

Observe the pattem gwen below and find the rmssmg number (?

L A

7
4
5
9

—_—~ e~
(T I ]
_— I
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e few 7w Yo =1 G s iR faea dem ( 2) =1 71 S |

0, 2 9 @)
(1) 7

(2) 4
(3) 5
(4 9
Options:-

.1, Option ID :- 573,
« 2, Option ID :- 574,
« 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

A triangular pyramid has :

) 4 faces, 8 edges, 4 vertices.
(2) 6 faces, 8 edges, 6 vertices.
(3) 4 faces, 6 edges, 4 vertices.
(4) 6 faces, 6 edges, 6 vertices.
T Py fafre & -

(1) 4%, 8 R, 49 29 & 1
(2) 6 %eH,8 THIR, 639 2 ¢ |
(3) 4 et 6 foe, 4 9 2 & 1
(4) 6FaF, 6 fFAR, 6919 20 & |

Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
« 3, Option ID :- 579,

« 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146

The total length of the fence arround a square field is 572 m. The side of the square (in m) is :
(1) 144
(2) 143
(3) 142
(4) 138




Join Telegram Group "HaryanaJobs.in"

T 6N T & =R AR &1 91g B! TEE 572 m € | THR T A1 sl (mH) T
(1) 144

(2) 143
(3) 142
(4 138

Options:-

.1, Option ID :- 581,
- 2, Option ID :- 582,
- 3, Option ID :- 583,

- 4, Option ID :- 584,
Answer Given:- 2, Option ID : -582

Question ID:- 147

) 1
Volume of a cuboid is — m?>. Its volume in cm? is :

8
(1) 1,20,500

(2) 25,000

(3) 2,12,500

(4) 1,25,000

T T F A = mOE TGS 3T (cm?) B & :

8
(1) 1,20,500

(2) 25,000

(3) 2,12,500

(4) 1,25,000

Options:-

.1, Option ID :- 585,
- 2, Option ID :- 586,
- 3, Option ID :- 587,

- 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148
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How many angles are there in the given figure ?

D € B
E < - » A
1) 6

(2) 8

(3) 10

4 9

fe g fos o forem o € 2

&
D B
E < ) » A
(1) 6
(2 8
(3) 10
(4 9
Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
- 3, Option ID :- 591,

- 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149

8800909 can be written in words as :

(1) Eight crore eighty lakhs nine hundred nine

(2) Eighty eight lakhs nine hundred nine

(3) Eight. lakhs eighty thousand nine hundred nine
(4) Eighty eight lakhs ninety nine

8800909 = Wil H foran s wahal ® |
(1) 3713 S A& @@ = 4l =l
(2) eTEer @ A = A

(3) oTI3 T ST g R A Gt A
(4) SIS wrE e

2

Options:-
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.1, Option ID :- 593,
. 2, Option ID :- 594,
. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 2, Option ID : -594

Question ID:- 150

The sum of the digits of a five digit number is 4. The product of the digits of this number is
® 0

2 1
3) 4
(4) 20

T Ui el Al HE % SR 1AM 4 ¥ |39 e % i 1 U ®

() O
(2 1
(3) 4
(4) 20
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
« 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151

Seema goes to the market every alternate day. If she went to the market on 5t December, then on
which of the following dates, she did not go to the market ?

(1) 15% Dec.

(2) 18% Dec.
(3) 21° Dec.
(4) 9% Dec.

1 s fed Sigsht aeR Sl ¢ | 9fe 98 5 fedar =i arem 18 off o fAefated aial ° 9 fy fe a8
SR & TS of ?

(1) 15 fedsw

(2) 18 feg=R

(3) 21 feger

(4) 9 fegsx
Options:-

.1, Option ID :- 601,
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. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152

Choose the odd one out.

[ ]
(1) °
[ ]
®
%)
® [ ]
[ ]
[ ]
3)
[ ]
®
(4) *
L]
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o =1 A i |
®
[ ]
(1)
3
@
(2
® ®
®
]
(3)
®
®
(4)
@
Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
- 3, Option ID :- 607,

- 4, Option ID :- 608,
Answer Given:- 2, Option ID : -606

Question ID:- 153

A box has 30 marbles in which 10 are white, 15 are red and rest are yellow. Number of yellow
marbles are part of the total marbles.

) 5
()

@ z
1

3 3

e
He
e
o | ut
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us fesd # 30 &9 € 5 @ 10 g, 15 @t &R 99 dict €1 diet =i & Hen $a sl e g9
Eal 9T 21

(1) 5
1
@ 2
1
® 3
5
@ 3
Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154

The total number of triangles in the figure are

A

(1) 11
(2) 9
3 8
(4) 10
o= # o Pl 1 FoEn &
(1) 11
(2) 9
(3) 8
(4) 10
Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,
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. 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155

Yusuf purchased fruits & vegetables for Rs 435.45, stationery for Rs 124.88 and medicines for Rs
219.76. If he went to the market with Rs 1000, then amount left with him (in Rupees) is :

1y 218.31

(2) 218.09
(3) 219.91
(4) 219.11

ITGF H435.45 F FI Hel SR Fisar, 124.88 F F WIF 3R 219.76 F FI gamEal Wil | Ife 98 aeR
H 1000 % ST AT &1, T STH I 99 AT H) )

(1) 218.31
(2) 218.09
(3) 219.91
(4) 219.11
Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
. 3, Option ID :- 619,

- 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156

The greatest number of five digits which is exactly divisible by 64 is :

(1) 99968
(2) 99988
(3) 99994
(4) 99894

TrE i F el 5t Hem, S fF 64 F qofeen fanfem & s, ¥

(1) 99968
(2) 99988
(3) 99994
(4) 99894
Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622
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Question ID:- 157

Roman numerals CCLX, CCXC, CCXX, CXC, CCXL in the decreasing order are :
(1) CCXC, CCLX, CCXX, CCXL, CXC
(2) CCXC, CCXL, CCLX, CCXX, CXC
(3) CCXC, CCLX, CCXL, CCXX, CXC
(4) CXC, CCXX, CCXL, CCLX, CCXC

UHT i CCLX, CCXC, CCXX, CXC, CCXL %! H2d %y H faan 5 gehal ¢
(1) CCXC, CCLX, CCXX, CCXL, CXC
(2) CCXC, CCXL, CCLX, CCXX, CXC
(3) CCXC, CCLX, CCXL, CCXX, CXC
(4) CXC, CCXX, CCXL, CCLX, CCXC

Options:-

.1, Option ID :- 625,
. 2, Option ID :- 626,
. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 3, Option ID : -627

Question ID:- 158

In the following table, there are two columns A and B. Column A has some items and column B
has units of measurment. Correctly match items of column A with that of B.

A B
Items Units of measurement

(a) breadth of water pipe (i) km
(b) length of high-way (i) cm

(c) length of a room (iii) mm

(d)  breadth of note book (iv) m

(D) (@) - (i), (b) - @), (c) - (v), (d) - (i)
(2 (a) - (i), (b) - (iv), (9) - (@), (d) - (i)
(3) (a) (i), (b) - (ii), (c) - (iv), (d) - ()
4) (@) - @), () - (i), (c) - (i), (d) - (iv)
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et aferert #, €1 &9 A SRBR | T A H FO HE (13eH) € SRV B Y A9 A sHEA ¢ WY AH
fau v wEi 1, w9 B | wE faam s |

A B

L AT FRTSAT
(@ 9% TEY T HeE () km

(b)  BES I R () cm

() FHFHI TR (iii) ~mm

(d) Tt =T =l (v) m

(1) (a) - (i), (b) - (), (c) - (iv), (d) - (ii)
(2 (a) - (i), (b) - (iv), () - (), (d) - (i)
(3)  (a) - (@), (b) - (iid), (c) - (iv), (d) - (i)
(4) (&) - @), (b) - (i), (c) - (iii), (d) - (iv)
Options:-

.1, Option ID :- 629,
. 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159
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Pramod is a student of class IV. He has a small library in his room. His father helped him to draw
a bar chart of books, which is given below.

Y
A
10¢ =
2
S 8t =)
8
ke
g 671 —
Z
N
21 H
& & & & o % > X
< ) G
LS ¥ S
@9@%0{%
(o\.
—»Subjects

Based on this bar chart, some statements have been written. Choose the wrong statement.
(1) Number of story books are 10 times of GK books.

) Horizontal scale represents subjects.

(3) Number of math books are double of English books.

) Total number of books are 35.
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YHIE FAT IV B9 & | 39% H H UF S THed ¢ | 35 fuarst 3 gEaehi % foau gve = 59 o
IHe! HETE i, S R A fem T e

Y
A

101 -

|

=

——> T ) T
o
|

il ni

0l o

A %&3@4@2 &5
— fowg

39 TS 91 % YR W FB HoA fa@ U ¥ T A o g |

(1) e i GEdeh] il TEAl, S o (T JE) 61 GEahl ol 10 T E |
(2)  aferst tor, fawEl 1 gefifa s € |

(3) IO Y GEIHT HI TG, SFUSH hi Gl B G S

(4) Y& H A HST 35 B

Options:-

.1, Option ID :- 633,

- 2, Option ID :- 634,

- 3, Option ID :- 635,

- 4, Option ID :- 636,
Answer Given:- 4, Option ID : -636

Question ID:- 160

In a measuring cylinder, water is filled upto 50mL level. Now, Shubham dropped seven marbles
into it and water level reached to 85mL. If he drops 10 more marbles, then level of water will be :

(1) 100 mL
(2) 135 mL
(3) 105 mL
(4) 140 mL
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T Aok daq (fafeist) # o 1 'R 50 mL B 1 M F 39 9 Y Sl SR 9! %1 W1 85mL Ugd
7 | g F8 10 3R 9 ST <A1 8, a9 3 W 2 S

(1) 100 mL
(2) 135 mL
(3) 105 mL
(4) 140 mL
Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
« 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Subject : EVS_Q161-Q180_PRT22FEBSH1

Question ID:- 161

Below are two statements. Choose the correct answer from given options.

Statement (I) : Food is a fuel for our body.

Statement (II) : In our body, food is broken down by reaction with oxygen and heat is produced.
(1) Statement (I) and Statement (Il) both are true.

(2) Statement (I) and Statement (II) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.

9 & e fou mu €)1 few gy faewedi # 9 W@ 3w # =99 6

HYF (1) : IS AR TR F forg o $em 2

e (I1) : BAN KR wirs stferdier & srfafsran s ervefed g € ok som g 2t 71
(1) =RA (1) 3 () 3 T2 2

(2) A (1) IR (11) 2 T ¥ |

(3) R (I) WL €, TG e (II) 7Terd 2 |
(4)  HIA (1) T T, T HmAA (1) T B
Options:-

.1, Option ID :- 641,
. 2, Option ID :- 642,
. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 3, Option ID : -643

Question ID:- 162
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Which of the following statements is true about plastic ?
(1) Plastic is also a polymer like a synthetic fibre.

(2) All plastics have the same type of arrangement of units.

(3) All plastics have linear arrangement of units.

(4) All plastics have cross-linked arrangement of units.

freafafaa § § %991 F2F fes % ar § 98 82
(1) Evelft 39 *i g s ot T a5 ¢

2

4

Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
« 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

(2) W1 ekl § SehTEAl i et Wk Bl YR i ldl 8 |
(3) Wit werfEeshi H gehTeal st e Wiy el T
(4) |l @l H seedl i Hae fodswes (Figas) 2l ¢

Question ID:- 163

Match the following :
Plant disease

(a) Rust of wheat (i)

(b) Mosaic of Okra (i)
(c) Citrus canker (iii)
Code :

1) (@), ®)-(1), (c)-(ii)

(2 (@), ®)-(), (©-[)

(3) (@), (b)-(ii), ()-()

(4 (@), b)), (©)-(i)

Mode of Transmission
Insect

Only air

Air and seed
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frfafea =1 fgam =+
qreq T HEUT R TehT

(a) TEWT= G Fe

(b) TSt =1 diq (i) e A
(c) e et (i) =g TS e
A

(1) (@)-), (b)-(ii), (c)-(iii)

(2)  (a)-(ii), (b)-(), (c)-(iD)

(3)  (a)-(ii), (b)-(i), (0)-(1)

(4)  (@)-@), (b)-(ii), (c)-(ii)
Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
« 3, Option ID :- 651,

« 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164

Which of the following are true in the context of microorganisms ? Choose the correct answer.

(A) Microorganisms are found in the marshy lands but not in the desert.
(B) Microorganisms are found in the bodies of organisms including human beings.
(C) Microorganism like algae cannot live alone.

(D) Microorganisms cannot live in cold environment.

(1) Only (A)
(2) Only (B)
(3) Only (A) and (C)
(4) Only (B) and (D)

frefafad § & geasita % dev ° 1 9l € 7 $e i Ferdal ¥ Hel W A = HY -
(A) TSI goreel |l U S § ol meed § e |

(B) Wausia Ay wied Wit Sigeii & o & ig off w5 E

(C)  erian S8 gersia foesge s1shel T 1@ T 7

(D) Qewsita St uitfeufa # Sifad =& @ 9&d 21

(1) e (A)
(2) 9 (B)
(3) A (A) 3R (C)
(4) e (B) AR (D)

—

Options:-
.1, Option ID :- 653,
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. 2, Option ID :- 654,
. 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 4, Option ID : -656

Question ID:- 165

Think about the following statements and choose the correct answer.

(A) Plants contain nearly 90% water.

(B) Nutrients dissolved in water are transported only upto the roots of the plant.

(C) Nutrients dissolved in water protects the crop from both frost and hot air currents.
(

D) Fields do not have to be watered regularly to maintain the moisture of the soil for healthy
crop growth.

(1) Only (A) and (B)
(2) Only (A) and (C)

(3) Only (A), (B) and (C)
(4)  Only (A), (B) and (D)

== fou U oAl W fgaR L 3R Tel 3T FH =799 FL -

(A) el H e 90 wfaee S d €1

(B) & H goI §U v ol TR Shael Wl & STel o & 2 & 1
(C) <& H o1 §U U9k e ohi 1ol Ua TTH gal H 180 &l 5

(D) = woad gfg & fau fiugh st 7wt =i - wa savas 78 7

1) FadA (A) 4R (B)
FAA (A) SR (C)

(3) e (A), (B aih(C)

(4) F=@ (A), (B) R (D)

Options:-

.1, Option ID :- 657,
. 2, Option ID :- 658,
. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 3, Option ID : -659

Question ID:- 166
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Consider the following statements and select the correct answer.

(A)

3820555
1=} ==}
Q_\_/Q“"—’

=

Excessive use of fertilizers lead to increase in the crop production and also increases the
fertility of the soil.

We should use fertilizers instead of organic manure to maintain the fertility of soil.
Field should be left unsown for some time between plantation of two crops.
Manure increases the soil’s composition and its water retention capacity.

Frefafed wem W fg=m %1 &1k fou e Fz i gemda | W SO # = w) -

(A)
(B)
(©)
(D)

e :

1

2

)
2)
3)

)

(
(
(
(4

ST o AAF ST A I 2755 SIS Y qrt & IR Ot i e ot et 2
THE! ot IeRal aT W@ o foau g6 Sifers @1E o T4 9% 3a%eh! ol START Sl Fifel |

3 FYEl o o9 § ©d R F9 999 & fore fom 3 3 Sre 3 Afen

FAteF o 3TN | S & Ted ud 5w eEviy amar § gfs Bt £

Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

- 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Why do potted plants die due to overwatering ?

(D
(2)
(3)
(4)

Because water becomes acidic.
Because water becomes basic.
Because the atomic structure of water gets changed.

Because roots are unable to respire.
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THA oI g U A& UHT S | W S € 2
(1)  =Fifw 9 e & s

(2) =HifeR T &R B SR |

(3) FHEifeh UF T SAOIfEe Y= SEE S 2
(4) iR TS TiF & & T |

Options:-

.1, Option ID :- 665,
. 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 4, Option ID : -668

Question ID:- 168

Suppose you are stuck in a storm accompanied by lightening. Which of the following actions will
you take immediately ?

(1) Getting out of the car or bus.

(2) Taking shelter under a big tree.
(3) Getting inside a building,
(4)

4) Taking shelter in an open garage.

U] L T 3T U gign (et qer) # g e E forad fasredt off iR @ &) o e 8 9 - e
HaH Y8l il ?

(1) R A 59 § I SE |

(2) Tordll =€ Ug & e 39
OERERIELISER RS SIS
(4) Torel go1 TS | g e
Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
- 3, Option ID :- 671,

- 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

Below are two statements. Choose the correct answer from the given options :
Statement (I) : Polar Bears walk fast to keep themselves warm.

Statement (II) : Polar Bears rest often to avoid getting overheated.

(1) Both Statement (I) and (II) are true.

(2) Both Statement (I) and (II) are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.
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=1 21 e feu u ) feu o fawedi 6 4 wet SR & =9 i

HAT () : oA i) GE o TH W o forg 91 =erd 2 |

A (1) : YA 9Ie] G 1 59061 T 81 | 5= o fan st fasm & €1
(1) =R (1) 3R () =9 98 €1

(2) /A (1) R (A1) S TeE T

(3) W (I) e €, WY e (L) T T

(4) YT (I) 7o &, T HAT (1) F& T

Options:-

.1, Option ID :- 673,

. 2, Option ID :- 674,

. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 3, Option ID : -675

Question ID:- 170

Following are the parts of alimentary canal. Choose the correct answer with the help of given
codes.

(A) Salivary gland
(B) Pituitary gland
(C) Buccal cavity
(D) Small Intestine
(L) (A) & (B)

(2 (B) & (©)

(3 (O & (D)

(4) (A) & (D)

e TR Feft % 9T €1 e F e § 9E SW® 1 599 H -

(A) TR YA

(B) W e
(C) HE-TfeH
(D) &

(1) (A) 3 (B)
(2) (B) ¥R (O)
(3) (O R (D)
(4) (A) ¥R (D)
Options:-

.1, Option ID :- 677,
- 2, Option ID :- 678,
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. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Question ID:- 171

is a plant having colourful leaves and is used by farmers to know whether the soil of
a field is wet or dry.

(1) Tulsi
(2) Marigold
(3) Croton

)
(4) China Rose

e Ui ¥ forgent ufet -faift 2t € o fower swoma fraril g == e & fau e
S € 5 Sa Y S e & @ gt

(1) T

(2)
(3) wHIRA
(4) T=Ed
Options:-

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172

Sunita Williams told few things about the space. Choose the correct statements from the
following :

(A) Can't stay at one place.

B) Water also doesn’t stay at one place.
C) Hair always remain down.

D) Paper also doesn’t stay at one place.
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gtar fafesmg 9 fafty % F o 50 | Fefafaa § 9§ 9@ FaA #1991 #51 -
(A) TH STE foh X 721 @ Uehd |

(B) uwI i1 Uk e ekt el @

(C) e gHen R wd €1

(D) SPTS ot o7t SeTe feer =& &

(1) e (A)

(2) (A) ¥R (B)
(3) (A), (B) 3R (O)
(4) (A), (B) ¥R (D)
Options:-

.1, Option ID :- 685,
. 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 4, Option ID : -688

Question ID:- 173

Which of the following musical instruments are made up of a dried gourd ?
(1) Been, Dhol and Jal tarang

(2) Tumba, Been and Dhol

(3) Been, Tumba and Khanjiri

(4) Been, Dhol and Khanjiri

e | | - e 93 gt el | T S § 2
(1) =, 2re 3R s T

(2) =, &9 IR g

(3) o, Jan AR Weri

(4) @, e SR EsH
Options:-

.1, Option ID :- 689,
- 2, Option ID :- 690,
. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174
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Children of Holgundi village of Karnataka formulated a Panchayat to remove the shortage of
water. At present, this Panchayat is famous by which name ?

(1) Ranga Sangh
(2) Bhima Sangh
(3) Bhishma Sangh
(4)

4) Arjuna Sangh

FARE F TRUE! Md § U T FH H gL FA F foau S 7 U d=5Ed # e e 9w due o
o = § yafe &2

(1) TmE"
(2) T EHY
(3)  offe He
(4) T H
Options:-

.1, Option ID :- 693,
- 2, Option ID :- 694,
. 3, Option ID :- 695,

- 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175

There is a place in India where there are flowers everywhere in particular months. This place is
called “Valley of flowers’. In which state is this place located ?

(1) Sikkim

(2) Uttarakhand

(3) Himachal Pradesh
(4) Meghalaya

IRA § T R UE R 5 o fovm wEA H v & e 29 €1 98 SR el ) =il el § | 9%
HIF-T1 T & STel I8 W8 37aferd & ?

(1) Tafersg

(2) TWES

(3) Teur=e wew

(4) HEEH
Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
« 3, Option ID :- 699,

« 4, Option ID :- 700,
Answer Given:- 2, Option ID : -698
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Question ID:- 176

Below are two statements. Choose the correct answer from given options.

Statement (I) : ‘Lekha’ is the name of a place which is used for keeping sheep and goats.
Statement (II) : The walls of ‘Lekha’ are prepared by keeping stones and rocks on one another.
(1) Statement (I) and Statement (II) both are true.

(2) Statement (I) and Statement (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.

=1 21 e feu u ¥ feu gu fasedl # 9 wet s o =
HAA (1) : ‘orEn’ g-aiE #1 wEe % fo a6 sTE  wed €
/AT (II) : ‘orEl’ A S Teudl SR =Er Rl U R T TR A €
(1) e (1) 3R (1) SH 92 21

(2) HIA (1) R (1) S 7To 2

(3) YA (I) W& §, T HAT (1) T T |

(4) A (I) e & T HAT (1) TET T

Options:-

.1, Option ID :- 701,

- 2, Option ID :- 702,

- 3, Option ID :- 703,

- 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

The work of Fireman (Fire extinguishing person) is to :
(A) Dbreak the flow of air.
(B) reduce the temperature of fuel.

(C) increase the flow of air.

(D) increase the temperature of fuel
(1) Only (A)

(2 Only (B)

(3) (C) and (D)

(4) (A)and (B)




Join Telegram Group "HaryanaJobs.in"

W(WW)WW%:
(A) T 1 &R HEA

(B) SHH W1 A9 A AT

(C) g =l e Ser

(D) S T 1Y =Gl
(
(

1) e (A)
2) ad (B)
(3) (O ¥R (D)

)
(4) (A) ¥R (B)

Options:-

.1, Option ID :- 705,
. 2, Option ID :- 706,
« 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178

Which of the following is true about forest ?
(1) Itis a system comprising of various plants only.

(2) Init, trees form the upper most layer followed by herbs and the lowest layer of vegetation is
made of shrubs.

(3) Forests keep on growing and changing but they can not regenerate on their own.
(4) Forests are the life line for the forest dwelling communities.

fFAd g adiFan § 1 He g2

(1) =9 %aa fafvm wedl § &9 o da 2

(2) 39 Tud HU0 WA g7 T = ¥, formes i v ot g st i Bt ¥ @i anfeat gl
=l 1 9Xd o1 E |

(3) &7 gfg Fd € 3 wfiafia 2 € Wy = ST TS T8 TR |

(4) =9 &5 § I FH 9%l FEMT % Siad 1 STHR U R ¢

Options:-

.1, Option ID :- 709,
- 2, Option ID :- 710,
. 3, Option ID :- 711,

- 4, Option ID :- 712,
Answer Given:- 2, Option ID : -710

Question ID:- 179
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Which of the following statements is false :

(1)

The people who can neither speak nor hear, explain their words to the others through actions.

The people who can neither speak nor hear, understand what the other person is saying by
studying their lip-movements.

The people who can neither speak nor hear like everyone, cannot be admitted in a government
school.

The people who can neither speak nor hear like everyone can be admitted in special types of
school.

frfafad § 9 #i9-91 %99 Tad 8 2
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Options:-
.1, Option ID :- 713,

. 2, Option ID :- 714,

. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

Choose the correct option from the given features of desert plants.

(A)
(B)
(©)

(1

[Fe]

)
(2)
(3)
(4)

Leaves of some plants take the shape of spines.
Photosynthesis in cactus plant is usually carried out by leaves.
Roots of most desert plants go very deep into the soil for absorbing water.

Only (A)
(A) and (B)
(A) and (C)

(B) and (C)

gEEgArd el =) fFrefatay fawmaet § 9 98 3w &1 997 -

(A)
(B)
(©
(D
(2)
3)
(4)
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Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
« 3, Option ID :- 719,

- 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719
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